LIST OF INACTIVE ITEMS FOR ICF:LHB AS ON 09.06.2025

Sr PL No. Description Unit Stock AAC| Stock Value LI/LR-DT WD / DP
1 31011494 |PRI.INN & OUT SPRING- TRAIN-18 Set 49 5278792 16-Sep-23 14/30
2 33500022 |BALL JOINT ROLL LINK C53 Nos. 555 1317295 18-Jul-23 14/30
3 33502018 |CENTERING PLATE Nos. 3016 769729 16-Jun-23 14/30
4 33503291 |WELD PARTS ON ROOF LWACCW Set 28 91628 05-Apr-24 14/30
5 33529954 |BIO TOILET BRACKET CPL Set 50 247154 09-May-24 14/30
6 33550580 |WATER TANK FRAME 450L Nos. 2 22600 25-Apr-24 14/30
7 33556349 |CENTERING DISC ASSEMBLY Nos. 1468 8912695 20-Oct-23 14/30
8 33558036 |CENTERING DISC ASSEMBLY Nos. 563 3590460 10-May-24 14/30
9 33570243 |UNF CENTER RING TO Nos. 1414 547826 19-Feb-24 14/30
DRG.AAA0318000100
10 33570346 |UNF DISC TO DRG.AAA04063001 Nos. 251 174746 05-Jan-24 14/30
11 33571314 |UNF STIFFENER TO DRG.AAA0317900100 Nos. 1625 292569 29-Dec-23 14/30
12 33646740 |DOOR CUTOUT FOR LWSCZ2 Pairs 2 71672 07-Jun-24 14/30
13 73853896 |HEX SOCKET HD CAP SCREW M12X60 Nos. 1500 22582 11-Oct-23 14/30
14 73854049 |PREVAIL TORQUE HEX NUT-M12 Nos. 20 159 06-Jan-24 14/30
15 73854098 |PREVAIL TORQUE HEX NUT M8-DIN Nos. 69 273 06-Jan-24 14/30
16 73854645 |M8 METAL PREVAILING TORQ NUT Nos. 5879 227571 04-Apr-24 14/30
TOTAL 2,15,67,751




